Worksheet 3: Si&P answers

1. Always returns to the same steady-state. When less PO4 then less burial of P so levels recover. Likewise SiO4 and opal burial. When excess SiO4 then burial increases until SiO4 comes back down.

2. Always converges although not always same steady-state.

3. Doesn’t converge when (1) M is increased, (2) ’d is decreased, (3) ’o is either increased or decreased.

4. Something like 200,000 years before deep silicate and diatom concentrations come to equilibrium. Other variables stabilise sooner.
5. About 50,000 years, 

6.  After about 20 years (time for the changes to the deep SiO4 concentration to affect surface waters) the opal burial flux is 13 TMol y-1 after deep SiO4 has been doubled, about 3.4 TMol y-1 after it has been halved. (if you can’t see the output data at this resolution then increase the frequency of data output on the ‘Run Parameters’ panel).
